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(1.1.1) (AU B) = pu(A) + u(B) —u(AnB) (A,Bel),
(1.1.2) p(d) = 0.

01.1.2 0050000000000 R(S)0000P,(S)c P(S)0000P(S)
0000000000000000A€ R(S)0000 ADDDODOO #4000
000000 R(S)00000000

0 1.1.3 ROOODODODODOO0OO0D0000000I(1)0000I(1)0D0 A0OO0O
0000000000000 00000000000O0000O000000 kA
ooooOow0I(H)OOODOODOO

ub 114 0 L0000 p000D00D0DOODOO

(113)  p(AU-—-UA) =) (D" D (A, n---n4,) (A€l

k=1 11 <<l

gobbobuodgobbouooobobbod

000000000000 ,00000A4,,....A,€ 0000000000
0000000000000000000 k=100x,004k0000{1,...,n}
00 k000000004 <---<40000 u(4,Nn---NA,)00000 kD
000000000000 0000000000000 0000000000
000000 -000000000000000000r=100000000
A, €eL0000

p(Ar) = (A1)
000000000000 D0Dn=200000000 A,AeLODODODO

(A1 U Az) = p(Ar) + p(Az) — p(Ar N Ay)
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0000000 (1.1.1)000000R=300000000 A,A,A3;€e DD
ooodb e=1000

(A1) + p(Az) + p(As).

k=2000
—u(A; N Ag) — (A N Az) — (A N Ag).
k=3000
pn(Ar N Ay N Ag).
ogooon

/JJ(A1UA2UA3)
=p(Ar) + p(Az) + p(As) — p(Ar N Az) — p(Ar N Az) — p(Az N Ag)
+/.L<A1 mAgmAg)
Oo0d00n>30000000000000O00000O

gogobbbobobbbbdoooooobobooobobbobobbboodad
gboobgoboobooboobobbobob

00 ~=300000000 AUl el A3el0(1.1.1)00000O0

(AU As U As) = p(Ar U Ag) + p(As) — w((Ay U Ay) N Ajg)
=p(A1) + p(As2) — p(A1 N Az) + p(As) — p((Ar N Az) U (A2 N As))
=p(A1) + p(Az) — p(A1 N Az) + p(A;)

—{(A1NAs) + p(As N As) — p(A1 N AN As)}
=(Ar) + p(Az2) + p(As) — (A1 N Az) — p(Ar N Az) — p(Az N As)
+ u(A; N Ay N Ag)

000 (1.1.3)000000000n00000nO0O0O0OOOODOOO (1.1.3)0
bddbnUbboobobobdbiuodn+100000000000000O0

(AU U A, 4)
=pu(A1U - UA) + p(Apr) — p((ArU-- - UA,) N Apg)

n

=D (=D Y p(An 00 A + p(Anga)

k=1 i1 <<

— (AN A1) U U (AN App))

=S (=D YT p(Ay 0N Ay + p(An)

k=1 11 <<l

- Z(_Ulil Z M<Aj1 n---nN Ajz n An+1)

=1 J1<<ai
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00 115 00 SO000000GcCP(S)0000O0OOODOOOOOOOODO
gooobooboboooboobooboboboboD GFUoUoDoobOoobGo
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O0000vDh GOOOODOOOO
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00 11700 SO000000GOOOOOOOODOOOOOOODOODOOOO
oooGoOoooboboobo Lobogoogo

b LoobogoobboobbuooobboooboboobboooLobo
goboooboobobooboboooboooLobuoooboooboon
O00000000000000000A4,,B;jeGO000O

k l

=1 Jj=1 %]
ooobo A,np;0GO00O0O00000O0DOOOOOOOOOOOOOOOOO
Lopooooo

00 1.1.8 00 1.1.70000 GO LOODODODODOOOOL=[GlOOOO

00 119 00000000000000000 GOOOOD0O0OD [G)oooo
gboogbobooboobbooboobboooboobboobooboboon
ooooooboooo lioobooboboooboooobobooboo Goo
0000 [GboooO0O00000oobooooooo

0 1.1.10 S ={1,2,3}, G ={{1},{2},{3}.{1,2,3}} c P(S) 0O OO

A(X)_{ 1 (X #0)

0000 Gu{pto0O00 ANO00ODDOO0ODDODOO0ODDODOO0OODOO
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() G0000000000000000000
(2) \O GOOOOOO0O00

3) [Gl=P(S)000000

(4) A0 [G)0000000000000

00 1.1.11 SO00000000LCP(S)D00D00OOLODOOOODO Val(L)
ggbbbuoooobbbuoooobbbuooobbbooodn

00 1.1.12 SO000000000000000000000
(1) B(S)DDODODO (O 1.1.2)0

(2) fOSOO0O00O0DOOOOOOOOOO

M(X) =) fla) (X € Ry(S))

zeX

0000 ANO0D00000M,0 R(S)OD0D0O00000fDODO0DO0O0O0100
odboix0O011200000000 4000000

(3) S00D00O00O00O00D000O00000D F(S)000000Oo
A:F(S) = Val(Py(S)) : f— A,

ggbobuoogooboo

1.2 Groemer( 000

00 121 00SO00000 ADDOO0ODADODODOO 1,0

)1 (seA)
IA(S)‘{O (s ¢ 4)

00000000SO000000000 LO00000000000
k

(1.2.4) F=Y als, (m€ER, A€L)
=1

Ugrogboooooobooobooboon
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gt 1.22 0000000000000

(1.2.5) Lirp = Lalp,
(126) [AUB:[A+[B_IAIB:1_(1_IA>(1_[B>-

LO0d00dooLoooooooooooooobooon
OO0 (125)000000000000000
Injop=1Ia+1p—Ignp=1a+1p—14lp
oooosS—-AuBOO0O0O0O0OO0OOOOOO
1= Tuos = (1= La)(1 = Ip).

O00000(126) 00000

(125)0 (1.26)000L00000O0O0O0ODOCODO LODOUOODOODOUOOO
googo rLooobdooboo cobooboobuoobuoobuoLbooboo
goboboooodgobon

b 1.23 000000booooggn

(1.2.7) Lauon, =1 — (1= I4) (1 = Ia,)--- (1= 1I4,)
=D (=D YT I ena, -
k=1 11 <---<i

gobboooodgbon

00 (1.25)0(1.26)000000000000(1.27)0000(12.7)0n=1
0000D000000000r=20000 (126000000000 2000
0oo

S—AU--UA,=(S—A)N---N(S—A4,)

ooooooooooooodn
1 Iuyoooa, = (1= Ia)(1 = 1a) -+ (1= I4)
ooooooooooooodn
Lijoein, =1 — (1= 1Ia) (1= I4)(1 = Iu,.,).

goboboood

1—(1—14) - (1—14,)

=1 — {1 _zn:(_l)k:—l Z IAil "'IAik}

k=1 i1 <<
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k=1 1< <ip
n
k—1 E
= (_1) [AilﬂmﬁAik
k=1 11 <<l

gogoooo

00 1.24 (Groemer 000 00) 00 SOO0D0O0O0 GUOOUOOOOOOOO
o0oo0oo0o0o0OopO0 O0OD0ODODODODODODOOODbDObDODO
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(1) 0 [()000000000000000

(2) p00000000000OD00000OR>20 B;,BiUBU---UB, €GO
oboo B, 0000

n

(128)  u(BiUByU---UB,) =Y (="' Y u(B;N---NBy).

k=1 1< <ig

(3) [GIC0OO000 0000000000000 DOO0OCODOOOOGIODOO
DfZOq]Al—f—""f—Oék]Ak (OziER,AiGG)DDDD

(1.2.9) /fd/,b = Z a;i(A;)

ggboobuoodgoboo

0o ()=(2)=@)=(1)000000000

(1) = (2) y0[G)0000000000O000(1.1.1)00 (1.1.3)00000
00000 ((2o0ooooo

(2)=(3) (1290000000000 [G]0000000000000OOO0
0000000000000000 Ky,...,K,€GO 0000000 ay,...,am
ooooo

(1.2.10) > aily, =0,
=1

(1.2.11) > aip(K;) #0
=1

00000000000L =Ky,...,Ly=K,0000Lpw = K NKy, Lyss =
K.NKs,..00OOODOODOODOODOO0OODO0OO0OO00..0K, 0000000000
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0000 L,0000000000 Ly,...,L(p=2"-1)0000G00000
000000000000000000000000040000 L;,eGO000
000000 {Ly,...,L,}0i,j0000 max{i,j} <kOOOOO L;NL; = Ly
00000000000000000000000000000

=1

C = {(cl,...,cp)

O0000000L =Ky,..., Ly =K, 00O (ar,...,am,0,...,000 CO0D
oO0cCcooooonoo
q := max min{i | ¢; # 0}

(c))eC

O00000¢q0000 ()eCcOOOOOoOon

p

(1.2.12) D el =0, ¢, #0,
1=q
p

(1.2.13) > an(Li) #0

i=q

gobbboodbobbbg=pudbbbuooobbbtuodbbbdudebig
O00¢g=---=¢1=0000000(1.2.12)0

Colp, + -+ cplp, =0

0000000 ¢=p0000¢/, =0000000000 (1.2.13)00 cyu(Ly) #
ogoboobOobbOobbge<pbOobOn

LyC Ly U---UL,

000000000000000000000000 € Ly—(LgU---UL,)00
00000000000000/,(z)=1, I,(x)=03>¢000000(1.2.12)
02000000¢=00000000000L,CLyyU---UL,0000

Ly=LyN(Lgp1U---ULy)
= (Lg M Lgt1) U+~ U (LgN Ly)

gobbepbodoobbbooodobbbuoooobbbooobbb

1(Lq) = Z p(Lg N Li) = Z p(Lg N Li ML)+ =+,

q<i<p q<i<j<p

I, = Z Ip,nL; — Z I opin, +—-

q<i<p q<i<j<p
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OO0b0000000000 Ly, Lew,..., 000000000000 s>q000
UL, 000booboobonbobd,00nogon

(1.2.14) I, =Y dy,

s$>q

(1.2.15) u(Lg) = dop(Ly)

s>q

000000(1.214)0 (1.215)0 (1.212)0 (1.213)0000000¢ = --- =
.1 =000000000(1212)0 (1.213)00000000000 ¢0O00D0
00000000000¢O0000000000000000

zm:OZiIKi =0= iozz,u(Kz) =0
i=1 =1

oooooo
ooooo
arlx, +aslx, +- -+ anlx,, = bily, +boly, + -+ b1y,
0000000 oooooooo

arIx, +aslx, +---+anlx, —bily, —bsly, — - —byly, =0
agoog
arp(X1) + agp(Xa) + -+ + amp(Xom) — bipp(Y1) = bape(Ya) — -+ = bpp(Yy) =0
ooogo

arp(X1) + azp(X2) + -+ + amp( X)) = bip(Y1) 4 bop(Y2) + -+ + bupa(Yr)

00000000 k0 [G00000000@) 000000
(3)= (1) x0[G00D0000000000ODO000

A= [Ldn (ac L)
Oo0oo0on /ZD[G]DDDDDDDDDDDDDDAEGDDDD
mmz/uw:mm

00000 0 [G)00000000000(1.25)0(1.26)000000000
ABelGDOOO

[L(AUB):/IAugd,u:/(]A—f—IB—]AmB)dy,

= /IAdM+/IBdM—/IAdeM

= [i(A) + (B) — (AN B)
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0000 40 [¢)000000000000(1.1.3)000000000000(1)
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20 0OO040oodtngn

21 0000

00 211 RrOOOdodd
[a1,b1] X <+ X [an,by]  (a;,b; €R, a; < by)
OR'O00CO000O0OR"0O00O0O000O h(n)DOOOODODOODO
dim([ar, bi] X -+« X [an, by)) = #{i | a; # b;}
ogoooooooRrROOOO L,;, 0000
(Lyx - xI)N(Jyx - x Jy)= (L NJy) x - x (I,NJy,)

000000L(rROD000000000000000000000000000
0D000000000R"00000000 I(r)00000I(R)0 L(r)DO000
00 [I(n)) 0000

00 2.1.2 ([(n)0D00O0O GroemerO OO O0O) lhy(n)DOODOO I(n)DOODO
gooooobooobobod

00 wOh(in)DOOOOOOOOO 124000p00000000000
oo o000 Udn =00000
goooobodooodoooddrn >1000nn—-100000000000O
gbobogoobbdebbodbbooobbooobbooobboon
P,....,P,elhn)0 aq,...,0, ERODDOODO

(2.1.1) iailpi =0,
(2.1.2) Zm:aiu(Pi) =C#0

gbogoboooo
k=+#{i|dim P, =n}
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0000(21.1)0 (212)0000 A,...,P, € lh(n)00000kO000000
000000000
k=00000000 (21.1)0 (212)0000 P,..., Py € Iy(n) 0 dim P, <
n—1000000000000000000000000(2.1.1)0 (2.1.2)00
oo p,...,P,000000000000000000RPR,...,P,000000
00000000000(00000000017>10000

| =100000r,-100000000000000000!7 >10000
p,...,P,0000000H,....H,00000000

HCH1U"'UHZ (221,,771)

000000000000 H;0000 A00000000000000000
00000000000000Ip Iy, = Ipny, 000000(21.1)0 Iy, 000
00

(2.1.3) > ailpam, =0
=1

oooopsRnNnH,0n—-1000000000000000n-10000000
gooo

(2.1.4) Zm:aiu(ﬂﬂﬂl) =0

i=1

000000((2.1.1) - (2.1.3)0

(2.1.5) > ailp = aidpap, =0.
i=1 i=1
(2.1.2) — (2.1.4) O

(2.1.6) > aip(P) = ayu(Pn Hy) = C.
=1 =1

(2.1.5)0 (2.1.6) 0000 RC H, 0004000000000
P, C HyU---UH, (2:1,,m)

0000 (00000000000P, c F,0004, 00000000000
P,NH =P, 000000(2150000 a;lp, — aiglpnm =0000000
(21.6)0000 au(Py) — uiou(Py, NH)=00000000000

le{la"'am}_{i|PiCHl}
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00000ie ;ODOOO PO H,,...,H;O0OOOOODOO (2.1.5)0 (2.1.6)0

> ilp + Y (—ai)lpam, =0,

1€EN 1€Ny

Z a;p(P;) + Z(—ai)u(PZ- NHy) =C#0.

1€ENT 1€N1

000000000P, PNH, (ie N\)O H,...,H, 00000000000
O0000000k=000000000000000000%k>1000000

L>100(21.1)0 (21.2)0000 P,...,P, 0000000000000
00000000000 0000000PR,...,R0n0000Pu,,....,P,0n
00000000000000000000 HO PNHO PROOOOOOHD
0000000 HY,H- OOOPR CHTOODODOOO0OO0O0O0(1.1)0 ;000

gbooboodoogd
ZaiIPiOHZO'
i=1

oo00 (21.1)0 g+ 0 Ip-00000000000O0OO

Z ailpnp+ =0, Z ailpng- = 0.
i1 i1
p0o0ooooooog
Y aip(P) = ap(BNH)YU(PNH))
i=1 i1

Y auRAHY) + 3 (BN H) = Y au(R A ).
=1 =1 =1

n— 10000000000
ZaiIPmHZO
i1

g
Zaiu(PiﬁH) =0

i=1
goon
PNHO PAAOOOOOOOO P Cc HYOOOOdmP, =n0000000

dim(P,NH )=n-10000
#{i|dm(PLNH)=n} <k-1.
goo

m
g ailprg- =0
i1
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gooooobobooos0oOooonog
Z%M(H‘OH_):O
i=1
gooboboood
Zam(ﬂﬂHﬂ :Zaiu(Pi) =C.
i=1 i=1

O0d2x00000 Hy,...,Hy, O
2n
P =()H;'
i=1

gboooooooooH,. H, 0000000000 FO0bO0bo0oooon
g

d ap(PNH N---NHj)=C
=1
00000000
Zai,u(PiﬂPl) =C
i=1
0000(21.1)0 I, 00000

Zailpiﬂplzo
=1
0o0ddn00O0O000O A,...,ARO0000000000O00000O0O00O

m
E ai[PZ’ﬂPﬁﬂ---ﬂPk = 07

=1
Y aip(PNPN---NP)=C.
=1

D=~PnNn---NnP,0O0000O0DEel(n)00000O0OOOO

iaifpim; =0, iaiu(P@- ND)=C
i=1

i=1

D000l <k00O0PND=D0O000O0O0OR>2000 k000000
000000 k=1000000000(2.1.1)0

O./l]pl —f—ZOéi]pi =0

1=2
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gbooobobotdb-=-100000000000000000000 —ay1p,
0000000000000 000O0O000ooooDoO00O(R.11)0 (21.2)00
oot btooudouoouououogag
ERERE

2.2 Hausdorff [

r,yeR"0000O
d(z,y) = |z —y|
O000R'O0000000zeR"00000 ACR"O0000O

A) = inf
d(z, A) éeAd(ﬂ%y)
OO0o0Dbz0 ADQOODOOO

00 221 zeR"0ACR'O00000d(z,A)=000000000z€ A0
000

00 z€AD0D00000000¢>00000d(z,y)<eDDODyeAD
00000000000000000000

d(z, A) = inf d(z,y) =0
0oooooO

00 222000000 K,LCR*"OOOO HausdorffO O §(K,L)0O
(2.2.7) d(K, L) = max (sup d(a, L),supd(b, K))

acK beL
oooooood

00 223 K,LCR'OO0O0OO0OOOO0ONK,L)=000000000K=L
goon

00 §K,L)0000006K,L)=000000000

supd(a, L) = supd(b, K) =0

acK bel
0000000000000 ee KOOOOd(e,L)=000000 a€ L =L0O
O000000be LOODOOdOGLK)=000000be K=KOOOODOOOO
ooobobo0 K=LO00O0Oooobhooooobbooooooo
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RTOODOOO0O B"OUO0DLDOO0O0ODLOD KCcR*"Oe>0ODOO
K+eB"={z+eu|ze K, ue B"}
oo K+eB"00O00O0O
od 224 K, LCcR"O000O0DO0O0OO0O0OO0OOO0ODOOOOOO
K+ eB"={z e R"|d(z,K) <€}

O00000000006K,L)<e00000000OOKCL+eB" L C K+eB”
gobbooodgboo

00 0O000000000000000zeK+eB"0yeKOueBrO
D00 z=y+ewd00000000 jz—y/<e000d(xK)<eOOODODO
DO0ze{zeR"|dzK)<e00000000zeR"0d(z,K)<e000O
0000000000000 mO000 |2 -y <e+1/mO0000y, € KO
D0000KOOODOOO0O0O0000000, 0000000000000 y0
KOOOOOOOOOOOlz—y|<e000000z-y=ewDdO000ue B0
D000O0zeK+eB"000000000

K+eB"={zeR"|d(z,K) <€}

gobboooogbbodo
gobboboooobooobogo

MK, L)<e
<supd(a, L) <e, supd(b,K)<e
acK beL

sVae Kd(a,L)<e, Vbe Ldb K)<e
<K CL+eB", LCK+eB"
RTPO0ODO0ODOODODOOOOOCrODOOO0
o0 22560 cCctroooooood
OO0 000K, LecroonnO
O(K,L)=0(L,K)>0

gobbboooobbbuoooobn
ob 22400

SK,L)=0&KCL LCK<K=L.
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000000000000K, LM eCtO00006K,L)=a, §(L,M) =0
oooopoodobOdod22400 KCcL+aeB"OLCcM+pB"000000O
oooO

K CM+aB"+ (B" =M+ (a+ ()B"

O000000OMCL+p8B"0LCK+aB"000000D00OO0
M C K +aB"+ 3B" =K + (a+ 3)B"
00000000 22400
S(K,M)<a+p=0(K,L)+§L,M)

goon
000 Hausdorf OO 60 C*POD00OO00ODOODOOODOODOO

23 UO0OO0OOOO0OOOOOO

{1,...,n} 00000000000 Sym(n)DOODOOR"O0000O0OOOO0O
Oe,...,e, 00000 €Sym(n) D000 py(e;) =€y D0 O0O0D0O0000O p,
00000000 veR*O0000

Pow(T) = po(x) + v (r € R")
0000 p,, 00000
T, = {pos | o € Sym(n), v € R"}

000000000000000000geT,,Pel(n)0000 gP € Iyn)O
000IL(r)07,0000000000I(n)07,0000007(r)0000 u0O

(2.3.8) plgP) = p(P)  (g€T,,Pel(n)

000000O0wp07,000000

I(n)0000 0 Iy(n)00000 Hausdorff 0 0 0000000000000
x,0000000000000I(»D00000000000000000000
000000000000000000000000000000000000
000 IL(r)0OODOOO00000I(r) 0000000000000
(0000 x000000000P,Qel(n)0000PCcQOO0 uP)<
Q0000000000000 0000000P,Qel(n)0000PCQ
000 u(P)>p(Q)00000000D000,000000000000x00
ooooo
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O0R'O0O0O00000OI(1)00O00D0D0D0000000000000A4¢€1I(1)
good

u(A)=A00000000,
m(A)=A000

00000k, 00000
00 2.3.1 g, p0 ()00 70000000000

00 ABAUBe,(1)D0000000000O0OO0O0O0DOOOOOAUBE
IL(1) 00O AnBOOODODODOODOOOOODO

Ho(AUB) = 1,
B(A) 4 (B) — (AN B) =1 +1—1=1

000000K0 L,(1)000000000021.200040 1(1)0000 x0
0000000000A4€l(1)0000

A=A U---UA

O00:#4j000A4NnA=0000000000000 A4,...,A000000
gboooboobooboobo

k k
p(A) = u(Ay) =D upl(A;) =k = pg(A)
=1 j=1
0000000 ()00 p=4 00000040 [(1)00000000
40 0000000000000k 0 ()00000 1000040 I(1)
000000000000000 w0 0000000000
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00000@B21)0 Iy« 00000000000ODOO
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E Oéi[KiﬂH+ =0
i=1

gobbbuooooboo

m m
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i—1 i1

goboobod
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Un-100000000000
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i=1 i=2
gooooobobon
iaiu(KiﬁHJr) :iaiﬂ(Ki> =1
i=1 i=1
gooog

0032100 K"000000000 Hausdorf 0000000000000
0000000000 Hy, H,,...00000 K, C intH} O
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j=1 j=1
gooooooobbb H=H,Hy,...000O0OOOOOO
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ugogbbpepbooobOO
m m k
=1 i=1 k—>ooj:1
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_kh_{go;a/iu (Kiﬂ QHJ>
i= j=

1

oooooot
ZaiIKmeman;” =0
i=1
googooooo

m

m

E a/i[K,ﬂKl = hm E ai[K,ﬂHﬂ’W---ﬂH{r =0.
J—00 1 J

i=1
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Ub0o0bd Ky, Ks,... 000000000
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0:0000 K,NnK,N---NK,=K,nN---NkK, 000000

<Z ai> Ix,nnk,, =0, (Z ai> w(Kin---NKy)=1.
i=1 i=1

goboobbobooodbbbuodgdebbboooobbodgn

3.3 Euler(

oo 331 K,LKULOR'OOOUOOODODODODxe KOye LOOOOOO
[,y 0 KNLOOOODODODOOKNLOOOOOOOOO

00 KuLOODODOOOO([zycKULOOOOOO[zyNnKO2z0000
[,y 0000000000000 :2eK0000 [z,y]nK =[z,2]00000
00000zeLOOOOOOO:¢ LO00000000000LOOOOOOOO
:0000000000L0000000000000000(z2,y9)32% ¢ L00
D000z € lz,y) C KULOOD  €e KOODOOOOOOOO[z, 2 € [z,21] C K

000 0000000000000 2€L0000 e KNLO00O0O0O0O][x,y]
UKNnLOOODOOd

00 3.3.2 (Euler 0000) K700 E, 000000 000000000
0000000000000

po(K)=1 (K ek").
OO0 wp:K"—RO
wK)y=1 (KeKk")
O000D00D00A,B,AuBek"0D0000O 33100 AnBeKkK"DUODODO
00000000
nAUB) =1,
w(A) +pu(B) —uw(ANB)=141-1=0

O000OwpD0K"O0000000000 323000 [KM0O00000OO0O0OO
0000000000 [KM00000 pg0ooo
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0000000000000000 w¢,pf000 100000000000
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Ho(P) (=17 Y w(Pyn---n Ry

1 i< <

(17" > (PN By) = up(P).

i1<...<ij

.
Il

NE

.
I
—

oooo0pgO0nOO0O0O0O0O wOOOOOO0O0O0O0000000D0D00000 Euler
UupODOOOooooood

w0 [KNO0D0OD0O0 2310 0000000000000 O00ODOODOOO
000000 K"000o0000oo0oooooogkMo0 ko OoD0OOoooo
ggboodobbbod i120bbbouogobbboaogoon

ob 3330 L0000p0000 LO00DO0OOO0ODOLO0DO0ODOODOOO0
00 SF(L) 0000000000000 0ODODOO000 LOOOoOoOoO Val(L) o
SF(L)ODOO0OD00000O0O0O0O0o0ooooooooo

g SF(L)DDDDDDDTDDDD
WA =T(Ly)  (Ael)

O00000LD0D0O0OD0O000 wO0O0O00A,BeLOOODO (1.26)0 70000
g

WAUB) =T(Iaop) =Tx+ Ip — Lnnp) = T(1a) + T(I5) = T(Ianp)
= (A) + u(B) — p(AN B)

000oo0boooooobped LOOODDOOOOOOODDODOLOOOO
f:ZGiIAi (a; R, A; € L)
=1

obooogrobgooobd

T(f) =T (Z az‘%) = Zaz’T([Ai) = ZaiM(Ai) = /fdu

gogoooo

00 L0000 0000 0000 LOOOOO0OOOSF(L)ODODOOOO
000000000000 LO0000O 0000000000000 Val(L)Oo
SF(L)OOODODODOoOOoOoOoooooooooo
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00 334 K000 fO0000DODODOOOO

/fduoz/(/fxl,..., duo(xl,...,xnl)) dyio ()

oooood
T R" =R (2q,...,2,) — x,

gboobo0b00O000 r, 0000000 O0O0O0OO0ODOO0OD0O
() = [ ol N7 @)dpole) (K € (K7

OO0 KekKroooo

/(/]K(“v"-7$n)dﬂo(9&1,...,xn_1)) dpio(2,,)
— / (/Imﬂnl(%)(m,...,mn_l)duo(xl,...,xn_l)) dpo ()

Z/mmﬂﬂWMWWM:/%m@MM%)
=mmwm=1ammthw@

goo0ooobOookroboboboooboooobob Kkroob0O fOODOO

/fd,uo /(/f Tlyeoy & duo(xl,...,xn_l)) dpio(xy,)

O000O0O0OK e[K"M00000 Ix0000000000O0OO0OODO0OOO0O0OO

1o (K) = /IKd,uo _ / (/ IK(xl,...,xn)d,uo(:vl,...,mn_l)) dpto()
[ ([ o) diole) = [ sl 07 )l

00 335 n0000000POR0000000O0O0OOO0OPEe[KMOOODOO
gooooooooo
1o(AP) =1 — (—1)".

00 dmP=nUO0000PCR'OUOD0OOODOOOnO0000000O000O
U0On=10000

po(OP) = po(POO0O00O)=2=1—(=1)",

n>10000-,-10000000000000000000000O 33400

(+) udﬁP)=:/ud9PﬂﬂﬁWx»mm@ﬁ
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0000z e ROOODO po(dPNx, () 00000000z € m,(P)00z ¢
d(m,(P))000O0OOOOOOOO

po(OP N, (w)) = po(d(P N, ' (x))) = 1— (=1)" .
red(m,(P)0DD0OOIPNT, (z)=PNr, Y (z)e k" 0000
po(OP Nt (z)) = 1.

rdm(P)000DD
po(OP Nt (x)) = 0.

m,(P)eK'000 7P =[e,)000000000000O0O00O0OOODO

0 (x < a),

1 (r = a),
po(OP N () =< 1— (=)' (a<z<b),

1 (z =),

0 (b < x)

0o0o0ooooKioooooooooo
(0P N () = (1= (=1)" oy () + (1) iy (z) + (=1)" iy ().

000000 ((x)00

o(OP) = / 0(OP O i (2))dp (2)

ZO/{(l—(—1V*51ww*-G—U””IM}+(—1Y“Jhw}dﬂo
=(1— (="

D"+ ()" () =1 ()
SO00000LCP(S)000000000000000000000000
0000000000 LO000000 S0000000 B(L)Oo0o
(3.3.3) In_p = Ia_ang = Ia— Lalp

000000000000000L00000000000000000000
0000000000000000000000Z(L)0000(1.2.5)0(1.2.6)0
(3.33) 0000000 CeB(L)OOOO I eZ(L)000000

00 336 0 LO0J000O0O0OO w0 B(L)ODDODDODODODODOODOODOOOO
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OO0 00124000px0Z(L)00D00O0CCOOO

W) = / Iodp  (C € B(L))

00000 B(L)00000000O0O0O0O0O0OO (1.27)0000000 B(L)
00000000

POR'OD EOOODOOODOOOOOOODOERKOOOOOOOOOO ACRMO
00000 PCcAOUDDDDODDADODODOODOO POOOO POOOODOOOOO
relintPO00OOrelintP=P—0oP0O0O0O0OOO

00 3.3.7 POR"OO AOD0ODOODOODOODOOODOODOODOODO
pio(relint P) = (—1)".
gd 00335000
po(relint P) = pio(P) — po(0P) = 1 = (1 = (1)) = (= 1)".
gogoboboobobbooooogobobobbbopPUOlUUUOUDbFODDOOOO

gooobofrFbO pPO0ODODDOOODOO
(1) FOOOOOOOOOO

(2) U relint@Q = P,

QeF
(3) Q,Q € F,Q+#Q 0000 relint@ Nrelint@’ = 0.

gogoobbooboboodoooooobbobbboooooobobobobbboogo
0000 EulerO0 poOOOO0O0OO0ODOODOOO

00 3.3.8 (Euler-Schlafli-Poincaré 000 ) FOOOO POOOOO

fi=#{Q € F | dim@Q =i}
0oo00000000oooo

00 0000000
P:UrelintQ

QeF
gobbboooobbbooooooboooobnssrbon

po(P) = po(relint@Q) = Y (=)@ =3 "(=1)'f;.

QeF QEF i
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34 U0O0OOOOOOOOOOO

O000ooooooRrR"OOODODODO0O0 peO0OO0O0O00O p,, 0 nODO Lebesgue
0000000ob0bOoboooobo<k<nUODODOD ppOODOOOODOOO
Grassmann 0 00 0000000DO0OO0OO0O0OOODOOOOOODOO200000
0000w 000000000000 00O000O0OO0O0D0O0d

fceROODODOODOODOO

xcos +ysinf =0

O00O0R?0000,00000000 ACR?000,000000000
A, 0000AO0O0OOOO A, 00000000000D02300000000
001000000, 00000000 w(Al,) 00000000000

00 34.1 Pe,(2)0O0ODODOODODOOODOOOO

| m(Pl)ae = 2P
00 ROOODG>000000 LO0O0O0OP=1Ix,0000
p1(Ply,) = a|sin 6| + b| cos 0|
DOooD00O000o

/pl(P|l0)d0:/ {a|sin0|+b|cos€|}d9:(a+b)/ | sin 0|d6
0 0 0
= 2(a+b) = 2m(P).
003410000 R20000000000000000000OO0O POOO

gbobogbbobobogbuogboboobuooboobuoobuogbooooba
goboodbbuoobbuooobbooboobbuoobobooobboono

00 3.42 K,L,KULeK20000O(K|,)N(L|,)=(KnL), 000000

00 K, >(KnL), 0 L, > (KNL)|, 00 (K,) N (L, > (KNL), O
D00D000D000D0000000 2e(K|,)N(L,,) 000000 z¢€ K
OyelDO0Oz=2l,=y,000000000000000/ zyl, = {z}
000000000000 33100 2z € [nyNn(KNL)ODOOODOOOOO
v =2, € (KNL),0000(K,)n (L, ¢ (KNL), 000000000
(K1i,) N (L],) = (KN L), 000000

00 3.4.3 K20000 BO
B) = [ m(Klu)ds (k€ € K
0

000000000 p0 K200 E, 0000000000
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0o K,L,KULG/CZDDD
BEUL) = / (K U L)],)de = / (K1) U (L],))d6
- / (K1) + i ((El) — (K y) 0 (L],))} d6

(00 3.4.200)
_ / "L (K1) + (L)) — g (S A L), )} B
— B(K) + B(L) - B(K N L)

00000040 K200000000
KeK!*OR00000000000 w(K|,)00000000040 R200
D000000000000KOR2000000000 m(K|,)0600000
0000000000000040 E,0000000000000000000
K,.LeK)*0KcLOOOOOOO

5(K) = [ m(Kly)ds < [ (Lo = 5(L)
0 0
O000p0000000DDOe>000000

(K +eB)i,) = p(Kly,) + 2e.

oooo
BG(+€B%:iéﬂuﬂu{+eB%Mﬁw:iéﬂﬂqﬂﬂ@)+2dd9zﬁﬂK)+2we

00 224000K,L € K20 §(K,L) < e00000000K C L+ eB%L C
K+eB2000000

B(K) < B(L+eB?) = B(L) +2me, B(L) < B(K + eB*) = B(K) + 2me
OD000|B(K)-B(L)|<2re000000000
K,LeK? §(K,L)<e= |B(K)—B(L)| < 2me.
O000000pF0 Hausdorff OO OO O0O0O0O0OO0O00O00 e=46(K,L)0000
1B(K) = B(L)] < 2m6(K, L)
odoooooooood

00341000 34300

1
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0K*00 E0000000000I,(2)00 1000000 00000000
0K00000,0000K?*010000000000K*00 w0000

m(K) =1 / "KL (K €K

2
ggoobdo3d4d3tgugooouoggooobooognn

0 3.4.4
i (K) = (D) < 70(K, L) (K, L € K).

ggbbbuoooobbooooobobo

00 3.4.5 (Hadwiger) o, 1,020 K200 E,0000000000000O0
0oooo

00000 10000000KY)=1(1)000000 23300000000
OO0n000D0000<k<nOOODK'00 EF, 000000 ,OODOO
O0000w (0<k<n)0O [K"00 E,0000000000000CCCOO
(Hadwiger 000 )00000O0O0OO0O

0 3.4.6 uo(B*) =1, ;(B?) =7, we(B*)=7x000000
00 347 K,L,M,KULeKrOOOOOOOOODOOODOOODOOO

(KUL)+ M= (K+M)U(L+ M),
(KNL)+M=(K+M)n(L+ M)

00 344)00000000K,L,MCR*O00000O0COOOO (3.4.5)
ggoogboboo

(%) (KNL)+ M C (K+M)n(L+ M)

00000000 K, L,MCcR"OO0OD0O0O0OO0OO0O000000ze (KNL)+M
gbodbdid0ye KNLOmeMODOODOUO

r=y+m
oboooboobobbbze K+MUODzeL+MOODOOO
ze (K+M)n(L+ M).

0000 (x)000000
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O0ze(K+M)N(L+M)ODOOOOOO
r=a+mg=0b+my (a€e K,be L, my,my € M)

O000KULOOOOODOe,b00000!000331000000 KNLNL#D
OoooooKNnLNiOOyO e, b000000OO0ODO

y=(1-ta+the KNL (0<t<1)

gooogo
m=(1—1t)my +tmy € M

good

y+m=1—-ta+th+ (1 —t)mi +tmg = (1—1t)(a+mi)+t(+ms)
=(1—-t)z+tx==x.

O00000z=y+me(KNL)+MOOO (x) 0000000
(KUL)+ M D> (K+M)U(L+ M)
00000 (3450000
0348 0 K"000000O0OMekK 0000
pe(K) = p(K + M) (K € K")
00000uwuy O K"00000000
00 K LKULeK'OOOOOO 34700

pr(KUL) 4+ up (KNL)=p(KUL)+ M)+ p((KNL)+ M)
=pu((K+M)U(L+M))+pu((K+M)N(L+ M))
=u(K+ M)+ u(L+M)—p((K+M)N(L+ M)+ p((K+M)N(L+ M))
=K + M) + (L + M) = par(K) + par(L)

ibD0Oupuy00Oo0oooabbbooogan
00 3.4.9 (Steiner000) KeK*Oe>00000

po(K 4 €B?) = po(K) + 21 (K )e + mé?.
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00
n(K) = (K +B%) (K €K?)

gbbdqnpubO0ObOO0ObbO0O 34800 9p000000000O0O0DODLOOD E,O0
gbobobouooooboboobuobobbos4sdbb geROOOOO

N = Collo + C1pt1 + Cofia

boobuoobdidde>00000

(%) po(K + €B?) = €y (%K + Bz>
om0 o () o ()
= copo(K) + ecrpn (K) + copn(K)
000000000 K=RB*0000
pa(B? + €B?) = po((1 + €)B?) = (1 + €)*ua(B?) = 7(e* + 2e + 1).
00 (+)00 34600
po(B? + €B?) = cye* + meye + mes.

ce0000000000000O0¢=mc=2,¢c=10000000 (x)000
gboobuooboobobbidbe=0000000000

po(K 4 €B?) = po(K) + 241 (K )e + mé>.
ud 3.4.10 0 346000000

00 3.4.11 0000 2000000)K e K20000 4(0K) = 2 (K)00
000000000

00 34.12 00000000 Steimer00000O0O0O0OOO

3.5 UOOUOoouoobouoood

R2O00AO0ODO ROODDODOR?O0000000eR, veRZOODOMO
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00000000000o0o0oog (6,00 E,0000000000€ceROveR?
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us



3.5, DOOOooggoobobodgo 45

ggobbbbobooooooobbbobbbuooooooobbbobbbugoo
gooboboogd szngDDD[ICQ}DD EO00000 p0000

B(u)(K, L) = / WK NgL)dg (KL< [K?)
0000 k(x)00000

00 3.5.1 [K?|00 E,000000 000000 ¢; eR(0<4,7<2)00
gobbobuoogbobbodo

2

k() (K, L) = 3 eom(Buy(L) (K, L € [K?)).

4,7=0
ooo Cij:CjiDDDDDD

00 K,Lelk¥yOOOO
k(p) (K, L) =[E w(K NgL)dg = /E u(g (K ngL))dg

:iéu@*Kmng:A;MLﬂﬂO@=%WXLK)

0000000000000
Lelk)oooon

K] = R K v k(u)(K, L)
D0000000K, K, e[K30000

B(u)(J, U Ky, L) = [E u((Ky U K) 1 gL)dg

p((KyNgL)U (KyngL))dg

w(KyNglL)dg +/ u(Kyngl)dg — / p((Kingl)N(KyNglL))dg
2 E

E

|
\

w(KyNglL)dg +/ u(Kyngl)dg — / p((K1 N Ky)NgL)dg
By By B

= k(p) (K1, L) + k(p) (K2, L) — k(u) (K1 N K>, L)

00000000k (,L)0[K000000000000kw)(L,-)0 K30
0000000

LekK?000k(p)(,L)0 K*00000000000000000 34500
00 ¢eROODOOO

= Colbo + Cri1 + Cofo
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D00D000K,; €eK?0 limK; =K e K*0000000000000000
Jj—o0
MeK*00000 UK]-CMDDDDDDDDDQEEQDDDD
j=1
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Zci,ui(ijgL
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<Y leilm(K;NgL) <3 il (M
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(K NgL)| <

DDDCzi]qu@JZ:@eEﬂNHWL#WDDDDMDDDDDD
DDDD&E%DD

Ey =R g— p(K;NgL)
0,;000000000 |u(K;NngL)|<Cly(¢)00D000p000000

lim p(K; NgL) = p(K Ngl)
D0D0000000000Lebesgue 0000000000

i h() (K5, 2) = tim [ (0 ngL)dg = [ Yim (1, 0 gL)dg

j—oo j—o00 Es Es 7
Z/TMKHQD@:kWKKL)
E>

O000K — k(u)(K,L)D k20000000
000 heE,0000

K. 1) = [ (kK gLy = [ (K 0 gL)dg

Es
— [t nntgtydg = [k ngL)dg = () K. L)
E> Es
DDDDDD/{(M)(-,L)D E,00000000 34500 LOOOOOOOoOOO
(L)00000

k(p) (K, L) = co(L)po(K) + er(L)pa (K) + c2(L)pa(K) (K,LeK?

00000000000000 K e[KY00O0D000000000000000
KelK)0DOOOO0OOO0OOOOOOO

0L+~ ¢L)0K200 E0000000000000000000000
c; ER(0<4,7<2)000000

2
Z ciipi( K (K, [K?%, L € K?)

00000000000000 LelK}000000000000000O000O0
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00 352 (0000000) K,LeK)00000000000000
2
[ ol (1gL)dg = (K )pa() + 2 pa(K (L) + KoL)
E>

00 003510000¢,eR((0<4,j<2)000000
2
E(po) (K, L) = Y cypa(K)uy(L) (K, L€ [K?)
i,j=0

D00000K =aB? L=0B>00000 ¢,;000000
k(po)(aB*, bB?)

1 1 ["
= —/ po(aB® N gbB*)dg = —/ / po(aB® N (R(O)bB? + v))dvdo
T Fs N 0 R2

1 ™
= —/ / po(aB? N (bB* 4 v))dvdf = / po(aB* N (bB* + v))dv
™ Jo R2 R2
— / Lainyp2(v)dv = m(a + b)* = w(a® + 2ab + b°).
R2

D00« b0000000D00DO0ODOOOOODOOD

2 2
F(po)(aB?,0B%) = 3 cijpi(aB?) i (bB%) = ) cija't/ i B*)pu;(B%).
i,j=0 ,j=0
0000, b000000000¢+5#2000¢;,=00000:+,=2000

T = TCyp = T Cp2, 2m = 7T2CH.

googo

Coo=cp=1, c1=—
™

0000000000K,Le[K}O0000
2
/ po(K N gL)dg = puo(K)pia( L) + =g (K s (E) + oK po( L)
Es

goboog



